| Efficiency vs Dxy |
> 0.1
<

3 F
o 0.09F e[ g et

> -
30,08 |- f{ ot

@ C
S 0.07 il e

© -
0.06:— -------------------------------------------------------
0.05F {1414t
0.04;— U | VUSRNSSR | ST Y| S
0032_ """""" | ‘ SIS | SRR | | SRR
0.025f -+ | R R 3 0 A Y O S
0.01| 44+ - i .................
.ngl@fllllll 11 1') 1 { L T T L 1L T e A T O I |

= C

n i
1__ """""" L -4 - P N S

0967215 <10 =5 0

5 10 15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
| Efficiency vs Dz | —e— DQM_pixelCPE_step2_tthar-phasel-newgeom

—— DQM_pixelCPEChi20R2_step2_ttbar-phasel-newgeom
N 0.05 . : ; ;

.05 |||
> : : : : :
008
(&] . . . . N
$.035 AN Frrereree frorereeeee A
o : : : : :

k] R 0 S S S S R
0.025F 4|

0,025 i

0,02
0,00 | b

00084
<0 . . .

Ratio

2

15

TP dz (cm)



	Contents
	Page 1


